N of reco track vs dxy N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

tracks
true tracks

%)
<
S
Il
=
o
X
8

107

duplicate tracks

10 100

OLW%WWW__ T
= p—— ste 020_etapOto
g '(%PE pener;le step?2_ ptlto20 eta2p0to2)

T i p

= 29 O |2
05F- -k .
0.95F 0.95F - :
%96 =15 10 =5 0 5 10 15 20 9015 -0 =5 0 5 10 15 20 D05 -0 5 0 5 10 15 20 -20-15-10 -5 0 5 10 15 20
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
N of reco track vs dz [N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
%] 2] 4]
S ] s Fill :
8 g 8
[} [} Q
=] X =3
= £ 10° g
=
=
El

Ratio

=30 -20 -10 O 10 20 30 -30 -20 -10 O 10 20 30
track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


